%8 Jao@Us HEdHRl Y |y #Yi0 RRIST IR

GYHIY: 07582—281345 E-Mail - sanchimccsagar@gmail,com

%./881/9AgH. /19 AR, f&i® : 30.01.2019

S b GRS il

g AEUE g §Y Bl hls g¥ ¥d &g, AR W 11 BEI. /200
D.©IY. G & CIAHER BN WIUAT BRI d HT B9 og s olgd Slald
& BRI D! AT AR 9T . 05 o (W9 Ui o) 8, @ o
HAEAL ¥ Usiied ‘3" #ofl & Sdhar /MfdereRl 9 g—Mfder & Argq 9
Online FIfIERI T @1 il © | STgd Td urd MdereR gR1 Aeaucel wmd+
@1 s—ffder 99918e www.mptenders.gov.in ®R  Afder o ¥ w6
1000/ —(U® TR ) BT STIAC BT AT ATM/Debit HIe RT T &N
eI 13.02.2019 JIURTE 04:00 o TH U /FT fhar &1 FHaT 2| W gJ Ffaar
oy f&Hdi® 13.022019 BT JWE 500 Jof db WHR B SRA wd f&Ai®
14.02.2019 DI AURTE 3:00 gol IuRd MfASTHR /rfdhd U= & |Her el
SIRIAT | gRefm 1 @1 IR1 S 25,000 /— BT A far SHm et 7 | s
g H yre el W ffder @ 7 vd Wipd 8l fhar siraem | fAfder dde
| T Ud I IR SR TR UL HLSIU%. &1 dadse www.mpcdf.gov.in TR
SUE ¥ |

g PHRIUTA JABRI

g AEUS HEhN g FY 7.
g (A.9)



E-Tender Details

Tender level Details

Tender No: * Tender Creation | 30.01.2019
Date and Time:
NIT No: * | 881/BKDS/Engg/19/ Title: * | Transformer
Notice Invited for: | Tender Stage: | Three
Tender Call: * First Currency: | Indian Rupee
Email: * | sanchimccsagar@gmail.com Division/Basin: *
District: Vendor Class: *
Tender Category: * | Works Tender Sub category: | Electrical
* | work/Equipment
Period of Completion | 45 Days Tender Type: | Lump Sum
(In months): *
Form Of Contract: | General SOR:
Name of Work: * | 11 KVA Transformer & HT Work No: * | 01
Connection
Tender Fee details
Probable Amount of | 5 Lacs EMD in :* | 25,000/-
Contract(PAC) in: *
Cost of Document in: * | 1000/- Processing Fee in :
Important Dates
Purchase of Tender | 30.01.2019 Pre bid meeting
Start Date : * | 12:00 Noon Date and Time:
Purchase of Tender | 13.02.2019 Bid Submission | 13.02.2019
End Date: * | 04:00 PM End Date: * | 05:00 PM
Mandatory Submissions | 13.02.2019 Technical Proposal | 14.02.2019
(Envelope A) Open Date: | 05:00 PM (Envelope B) Open | 03:00 PM
* Date: *
Financial Bid (Envelope | 15.02.2019
C)Open Date: * | 03:30 PM

* Mandatory field




(01)
%8 JRAETS WEDHRI g WY #7410 RRIST 9FR
G

— fafdsTr gux —

1. fAfesT & — gRolgUs g HY Bl ghls gy Ud dws, ISR W 11
D@L /200 B.RIY. AT B CIABHER B WIUAT BRI Yd HT SR Bg T
AR Te & H1 2 |

3. (AfdeT v &1 4o — ¥ Uh FOR A1F e ( 1000/ — B, IS )

4. fAfaeT o9 w1 &1 RAie — Afaer e 9 RFie 13.02.2019 TIUER 4:00
ol P |

5. fafaer ST B @71 S1feaw feATd vd 98y — i 13.02.2019 ITH 5.00
I IP |

6. (MfIaT Yoiv &7 & Ud AHI — 14.02.2019 TIUSR 3:00 Iof A |

7. ST WIe &1 @M — PRI §Radvs JghRl g ¥ AR |

8. ITR Y UdT— &I BRI TGN Toe@re FedN! el Y AN |

A& BRI ARTHRT
TGS DN T Y AR



)
R (31)

JRAETE T HE B THIE MR WR Th 11 BRI /044 D@L &9 &I faggd
HGIE fHar ST B, 7% 200 $. &N &HAT BT SABHER AT A1 8, s o=
PRI B ST B |

®R BT fAaRoT

01. &g Yo% Yd &F fIgfa faaRor el fafiics @1 11 $oEiono osd | g7 ofid a<
qP 11 HOXI0Y0 I ATg ST ACRIS Afzd g AT 40 Hiex |

02. 200 BRIV, TFABER B BIE~SIH Vd BT BT B |

03. 200 ®.@ILY. TR CABRR 11000 dlec /440 dlec 3MS.UN. 2MS. HAIH Star Rating Ud
AUgafafa S § wWad B WU HRA (FCRI |fq) |

04. QLU IdeR U THLEL U9 B BRI ATIRISATIAR fHIT ST 2 |

05. AIRCYA H UIel /ATl BT HTF MITIGATAR fHar ST 7 |

06. o Wl Hiex (AW=T /H.P.L./Geneous)/ ISl Mark. HT #ex CT/PT 11 D0&I0 & 1T |

07. 3IRAS dfdd 120 sq mm SAHHR A ACB WE 6 T SATISHATTAR STAT |

08. ACB ¥ 3.5 Core, dfda LT U9a1 A& STaiA, dfdal ISI A1 XLPE (Finolax/Ravin)
ARAS UePHITTIH dfdel ASRIA Afed CIRBER I LT Uel &1 0 o 40 HIeR |

00. <fRfT e &1 AT vy weRua Afkd &= B

10.  SFEAWHR W ACB T fIg[d o= STer |

11, S3ms. S BT B |

12. 11 BT H LA Set Td DO Set BT Hrd fham S+ B |

13. 11 @Y H U Reg, a€y, o a7 |

14, JTAWHATIR &P $geiey TG U9 §geiey I |

15. 9 Ul B HIGIST, AT U TR HaR & S B3 ST 7 |

16.  IMAWIHATTAR W AT BT B fHar S 2 |

17.  AB Ra9 9§ TUBRR d& [9gd d1g STl |

18.  drsdex Dog AAAC (100 Sgm Angle) & SYATT faham ST 2 |

19.  TSIET 3R¥ER AfRT Afed fhe &1 11 D= |

20.  Anti Climbing fSargd 1 @™ 9= ¥ 1T+ |

21. Y WH U9 IR WR VS RIS S UG e Ue AT |

22, 99 W©IF UG I Ul TR SoR BT dre oI |

23. %@HWWWWWH&WWWl

24. TIEPR WU 89 dHellc &) HoWo Ud &y fdofdo &wil &1 @
@R BT |

25. QWG BT H NS MaIddRll o gid & AfRad mawas [ifde
P W MfAeeR gRT fBar S 2 |




(3)

ﬁﬁﬂﬁéﬂ—
AT B A U<el Yd & [Agd fIaRe SR & HI9 GU€ B JMER W
HeRgel Afed fhar S & |

—  ffceR @ AR R SR ST eIl SRAT awId § i fahwr
UBR @ yF @ Rerfer et 7 2

— g9 WM BT FAI0T 9 gRe SMAfFEr @ AR BRI S 6 fagd
GRefT fmT & < fipfar form ST saws 7 |

— quwmqjaﬁﬁgﬂﬁawﬂ/ﬁgﬂﬂ?mﬁﬂmﬁ
FATIA, AT Td B FdTeld URH 81 & SURIA fhar SR |

3T AR B 7Y AeRAd & augafafds. & famgar fear S g
R H IAaTIHdl FJAR fder st A wffera & |

el —Ylolde /SeMe f$cd RUE A& yewr gd &F fgd faaRer Suel o iR |

TR BRI JIIHRI




uR¥re (a)

H = warel @1 SuRerfd # 991 6l g9 a1 99 & Yol BREdN H gaaavs
T Y B 3PS §F WA D" AR R 11 & /044 D). &7l & 99
I & i SR gg (ST yus § g BHie 2 U9 3 o M fawg BHie 1 9
25 Th & [JaRI & JTAR TG DR BUY .oooooeoeoeooror (Tt H B
............................................................ ) FET BRI ¥R PR Bl TIR g |




10.

11.

12.

13.

14.

()
IR ()

JRAETE T FH B FHIS NOTR W T 11 BEL/044 D). &Aar &1 fdgfd
PG fhar ST 8, OrH 200 ST &HAT BT SIEHHER A BT ®, Rraa
SIFATFT AT 05 d 3. 2 |

FfIeTeR 7e uqer faya dear & a1 &oft & uSiia 81 M = |
fAfacreR @1 11 B&). /200 HEY. TG I FHT B HRA BT WA AT ¢ |
IR & o 9AM HaT /SAY JIfE &HaT BT B W HH Ud BRI goiar &
FATT YHIOT U= SR ST S1fard 7 |

gRIER IR W B AT <F T&1 BT |

Wiepd FfderdR B BRI 3R Ui 81 & i g & e Heald Ud T qwire
@ 3eX B URT IR 45 a9 § BRI YT BT BRI |

ffaeT § w0 &R & 7= B8R |

fafaer w3 & e v, Dykl" wcifhde @ BRIT U Hei™ oxr Jifard ® ud fAfaer
Gle & T9I qd vfd fe@r siaedsd g e (fder wR AR T8l fhar S |
FfdereR B B 8 Pls MMUH < & 8N BRI B YT & MR UR I
febar ST e, S b Sfferepad  60% BT | 30% A bRl YU 814 Ud fagd et
fRT @1 ST gafd Ut B9 R fHAT ST || AN 10% YA (S 9N b

FAT & QURIA AT SIRATT | 372rdT 10% IR & aRMER Yo ay &I § TRST & W
B S | |

MAITPR &1 SR F<Y S[e 9 9 o9 R A7 FuiRa s@er & faaw 8
R SH R fhar Sam Ud emHa IR od @ SR | 3rgen faed &
Rerfay & srefes FgaR ST fhar S |

For Services
S. No. Duration of Delay Liquidated Damages
1. 1 Month 1%
2. 1 to 2 Months 2%
Beyond 2 months 5%

ﬁﬂﬂ%ﬁwﬁﬁaﬁﬁm@aw@ﬂwﬁamaﬁﬁ@ﬂ%ﬁm
AYBHRI U HATR AR TR AR T 01 1f~aH q2r de_eRT 3277 |
T PR et @ fedl o ffder @ o seEr g
A / IRdd B BT HR FRIET =T |

PR ffaer o A I qd Wi BT e R waa g1 Ffder «®
WA BRI WR IS AT SR B I Bl el BT FRIE0r welwifd
IRe [fder R 99 7 | g e Jrg T8 o S |

&
fgga gRem fA9rT | Wiafd o 89 & SuRId 81 PR BT 3AfaH I



6)

15. & T g 4 R gof 9 89 W ufd Ry @ Ao e W spicrs
ARG fbam ST AebaT 2 |

16. ffdcrer o wfdw g TR Ud U9 TR a1 ST 3awdd 2 |

17.  FISTHR &1 ISR /BORYR CE BT H AL BFT 3fHard 2 |

18. BRIRT  dHRREA /HHATRAT BT EPF INVRSIE  Td IABI  ATA™
3rfart g |

19. < o RS TG SFHT ATATT STf=aTd 2 |

20. Fe—IF H BRRA AHAREA! / HHATRAT BT §91, ESI, ESIC Labour
Compasation Ul SAME Ud I dREMT AT & sf=id |Yol
SR S®HaR I BRMT | fhell Wl YR &1 "e+1 /gael | aldyfd s
@ SaEeR [MfIeeR /SheR & BT |

& HIRIUTAT MBI



Task No:- 1

Task Name :- Metering Equipment

Labor &
Task Number Scrﬁgule che:[dule UOM Schedule Description C‘*(Q/tage Trans, | om0
: Y. %) | chg. (%)
Charges
E-3.3 Material E-3.3 1.00 Number | (111) 200 KVA USING DTR 11.5 13.45
ON 152X152X37.1 KG/MTR,
11.0 MTRS. LONG H-BEAM
SUPPORTS
Labor
Miscellaneous-Ca 11.50 10.00
pital
Miscellaneous-Ex 11.50 10.00
pense
Overheads
Returnable Material
Supervision

Totel




Task No:- 2

Task Name: 11 KV E3.3 Material

Company Item | Totel
Item Code Item Description UoM Remarks Expenditure Type provided Qty.
(DW) Cost | Cost
Other S/S-11/0.4 KV
Charges Other Charges DISTRIBUTION TRX 3534

Totel




Task No:- 3

Task Name:

11 KV E3.3 Material

" . Company Item | Totel
Item Code Item Description UOM Remarks Expenditure Type provided Qty.
(DW) Cost | Cost
10103033 DTR 11/0.4 KV CONVENTIONAL 3 STAR Number S/S-11/0.4 KV 1
RATING TYPE 200 KVA, ALUMINIUM WOUND DISTRIBUTION TRX
12202003 H-REAM 11 METER 152X152 MM 37.1 Number S/S-11/0.4 KV 2
KG/METER DISTRIBUTION TRX
12151006 DC. CROSS ARMS 8 (2.4 METER) CENTRE TO Set S/S-11/0.4 KV 1
CENTRE 100X50X6 MM CHANNEL DISTRIBUTION TRX
12147003 BACK CLAMP FOR H BEAM POLE OF 65X8MM Set S/S-11/0.4 KV 6
MS FLAT DISTRIBUTION TRX
12402006 11 KV, 45 KN DISC T&C COMPOSITE POLYMER | Number S/S-11/0.4 KV 3
LONG ROD INSULATOR DISTRIBUTION TRX
12107001 11 KV STRAIN HARDWARE (T&C TYPE) Set S/S-11/0.4 KV 3
FITTINGS DISTRIBUTION TRX
12154001 GALVANISED D.O. MOUNTING CHANNEL Number S/S-11/0.4 KV 5
75X40X6MM DISTRIBUTION TRX
Number S/S-11/0.4 KV
12167020 H.BEAM CLAMPS 65X8MM FLAT DISTRIBUTION TRX 4
Number S/S-11/0.4 KV
12126002 DO FUSE UNIT COMPLETE-11 KV DISTRIBUTION TRX 3
11 KV, LA POLYMER TYPE GAPLESS/METAL S/S-11/0.4 KV
12141004 OXIDE 9 KV 5 KA LINE TYPE Number DISTRIBUTION TRX 3
TRANSFORMER MOUNTING CHANNEL S/S-11/0.4 KV
12153001 100X50X6MM Set DISTRIBUTION TRX !
12152001 TRANSFORMER CLAMPING SET 50X50X6MM Set S/S-11/0.4 KV 1
ANGLE 460 MM LONG DISTRIBUTION TRX
12161001 TRANSFORMER BELTING SET 50X50X6 MM Set S/S-11/0.4 KV 1
ANGLE WITH TWO CROSS FIXING CHANNEL DISTRIBUTION TRX
STAY SET WITHOUT STAY WIRE 16 MM S/S-11/0.4 KV
12167001 | o A \NTED) Number DISTRIBUTION TRX 4
. S/S-11/0.4 KV
12114002 STAY WIRE 7/3.15 MM (7/10 SWG) Kilogram DISTRIBUTION TRX 22
19132009 CONCRETING (1:3:6) OF H-BEAM @ 0.65 CMT. Cubic S/S-11/0.4 KV 1.3




PER POLE (BASE PEDDING + MUFFING) meter DISTRIBUTION TRX
10132002 | CONCRETING (1:3:6) OF STAY @ 0.2 CMT. PER | Cubic S/S-11/0.4 KV 5
STAY (16MM) meter DISTRIBUTION TRX '
AAAC RABBIT CONDUCTOR 0.05 SQ. INCH (55 | - S/S-11/0.4 KV
11102004 | 5 "Mim AL.EQ)) Kilometer DISTRIBUTION TRX 03
S/S-11/0.4 KV
12169005 | DANGER BOARD ENAMELED 11 KV Number D STRIBUTION TRX 1
S/S-11/0.4 KV
12122004 | GI EARTHING ROD, 20 MM DIA 2000 MM. LONG | Number D STRIBUTION TRX 3
ANTI CLIMBING DEVICE (BARBED WIRE 3.5 : S/S-11/0.4 KV
12116002 | 1 ) G 2.5 MM DIA (12 SWG) Kilogram DISTRIBUTION TRX !
. S/S-11/0.4 KV
17115001 | RED-OXIDE PAINT Litre D eTRIBUTION TRX 2
. S/S-11/0.4 KV
17115002 | ALUMINUM PAINT Litre D STRIBUTION TRX 2
) S/S-11/0.4 KV
12502274 | M S BOLT WITH NUT 16X250 MM Kilogram D STRIBUTION TRX 3
) S/S-11/0.4 KV
12502275 | M S BOLT WITH NUT 16X200 MM Kilogram D STRIBUTION TRX 2
Kilogram S/S-11/0.4 KV
12502277 | M S BOLT WITH NUT 16X140 MM D STRIBUTION TRX 2
M S BOLT WITH NUT 16X90 MM Kilogram S/S-11/0.4 KV
12502004 DISTRIBUTION TRX 3
M S BOLT WITH NUT 16X65 MM Kilogram S/S-11/0.4 KV
12502003 DISTRIBUTION TRX 3
M S BOLT WITH NUT 12X140 MM Kilogram S/S-11/0.4 KV
12502001 DISTRIBUTION TRX 1
DISTRIBUTION BOX MOUNTING CHANNEL S/S-11/0.4 KV
121540251 75406 MM) Set DISTRIBUTION TRX 1
L.T. DISTRIBUTION BOX FOR 200 KVA S/S11/0.4 KV
12132004 | TRANSFORMER (600 A. ISOLATOR & 9 SP Number D e TRIBUTION TRX 1
MCCB OF 120 A)
XLPE LT 1 - CORE ALUMINIUM UNARMOURED | . S/S-11/0.4 KV
11203004 | 155 soMM CABLE Kilometer DISTRIBUTION TRX 08
XLPE LT 1 - CORE ALUMINIUM UNARMOURED | . S/S-11/0.4 KV
11203001 | 509 soMM CABLE Kilometer DISTRIBUTION TRX 04
12138002 | L1 KV AB SWITCH THREE PHASE 600 AMP TP | S/S-11/0.4 KV ]
GANG OPERATED DISTRIBUTION TRX
14102008 | LT TRIVECTOR ENERGY METER,DLMS Number EM-LT ENERGY 1




COMPLIANT CATEGORY-A (FOR
SUBSTATION/FEEDER METERING) ,3 PHASE 4
WIRE, 440 VOLTS,5 AMP, ACCURACY CLASS
0.5S WITH GSM (GPRS COMPATIBLE) MODEM
WITH BOX

METER

Supervision

Supervision Charges

S/S5-11/0.4 KV
DISTRIBUTION TRX

Totel




